The following table gives values and derivatives of a function at various inputs,
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If m(x)=2"", find the equation of the tangent line to ¥ = m(x) at x = —3 .
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Let f(x)=cos™ 2,

[a] If x changes from 4 to 3 8, find dy .
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[b] Approximate f(3.8) using your answer to part |a].
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2 , : e , £ =9t +15
The position of an object at time / minutes is given by the function $(f) = -—1—63-\/—_———_ yards for £ > 0.5 . SCORE; /15 PTS
!

Find the acceleration of the object at time # =1 minute.
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Two sides of a triangle have lengths 1 cm and 4 cm. At the moment when the angle between those two sides SCORE:

is 120°, that angle is shrinking by 10° per minute. How quickly is length of the third side changing at that moment ?
ou must state whether the third side is getting longer or shorter.
You must state/show clearly what each variable you use represents.

You must show the units during the intermediate steps of your work, and you must state the units for the final answer.,
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Prove the quotlent rule using the definition of the derivative function. Show all steps. SCORE: /15 PTS
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If f(x)=tan"'x*, find FU(-D). .
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. d n.x
Find ?d;(cscx)“’ : SCORE: /15 PTS

Yolsed)™”
@\\HD: "}'ZU'\X)Y\C,SC,X\ .
\’5 dij\: l@er\n c,Sc,x)Jf }—ﬁ})xg}z; GC%(){X)]: Soentels

7 U(Sac/lx‘mC,SC/X"'(>;KCSCXS‘vAjB€’(}X‘m csex ) )

>




